2-83 and 2-84 Replace the loading on the brackets in Fig. P2-83 and Fig. P2-84 with an equivalent resultant force and
specify its location along AB mea-sured from a convenient point.

2-84 400 1b
Solution. .
2RV
G (‘-fbum) 600
o5 bl B
<« ﬂ-/. |
/ [ 5ft
/
‘Y
smw'(“*“”")
_ agetP 5334
8t
—'—[50"")(3#)
T =5
2,67 FF — 200 Ib
l "
f////c:! ////50 Ib/ft
maﬁmhde
Ry= £fx= —2001b —200 lb = -400 Ib = Y00 lb €— Resvltart lies
in Quad 3
p;: iF)'; —3Y. %1 = 34, ¥ b \1/
R= [4po b™ + 34,415, = 529 lb
Direchon
IYH o "
- Y = 0.
"("h’")/ 400/&/ 701

O= 150° + $0.9° = 220.9°7

L,oCu/h o

A Ry % = 2Man
e J _ 2001 (533 #4-) = —1066 -t )

1066 1t = 3,08 # hHeghg A
Zyb.4 b

-—
-
ax-__

R= 524 Ib f—zw,qo loceded 3.08 ++ 4o te nilbg A l




